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Question 25
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Score 2: The student gave a complete and correct response.




Question 25

25 Express (1 — )3 in a + bi form.

Score 2: The student gave a complete and correct response.
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Question 25

25 Express (1 — i)*in a + bi form.
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Score 2: The student gave a complete and correct response.
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Question 25

25 Express (1 — )3 in a + bi form.
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Score 1: The student did not simplify powers of i.
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Question 25

25 Express (1 — )3 in a + bi form.

Score 1: The student made one computational error.




Question 25

25 Express (1 — )3 in a + bi form.

Score 0: The student gave a completely incorrect response.
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Question 25

25 Express (1 — )3 in a + bi form.
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Score 0: The student made multiple errors.
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Question 26

26 An orange-juice processing plant receives a truckload of oranges. The quality control team randomly
chooses three pails of oranges, each containing 50 oranges, from the truckload. Identify the sample
and the population in the given scenario.
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State one conclusion that the quality control team could make about the population if 5% of the
sample was found to be unsatisfactory.
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Score 2: The student gave a complete and correct response.
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Question 26

26 An orange-juice processing plant receives a truckload of oranges. The quality control team randomly
chooses three pails of oranges, each containing 50 oranges, from the truckload. Identify the sample
and the population in the given scenario.

Sample. = 3 pails of Sooranges
populaction = trucklod.

State one conclusion that the quality control team could make about the population if 5% of the
sample was found to be unsatisfactory.
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Score 2: The student gave a complete and correct response.
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Question 26

26 An orange-juice processing plant receives a truckload of oranges. The quality control team randomly
chooses three pails of oranges, each containing 50 oranges, from the truckload. Identify the sample
and the population in the given scenario.
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State one conclusion that the quality control team could make about the population if 5% of the
sample was found to be unsatisfactory.
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Score 1: The student only stated a correct conclusion.
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Question 26

26 An orange-juice processing plant receives a truckload of oranges. The quality control team randomly
chooses three pails of oranges, each containing 50 oranges, from the truckload. Identify the sample
and the population in the given scenario.
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State one conclusion that the quality control team could make about the population if 5% of the
sample was found to be unsatisfactory.
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Score 0: The student only identified the sample correctly.
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Question 27

27 Using the unit circle below, explain why csc6 = %
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Score 2: The student gave a complete and correct response.
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Question 27

27 Using the unit circle below, explain why csc6 = %
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Score 2:

The student gave a complete and correct response.

Algebra II (Common Core) - Jan. 17

[14]




Question 27

27 Using the unit circle below, explain why csc6 = %
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Score 1: The student did not write an explanation.
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Question 27

27 Using the unit circle below, explain why csc6 = %
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Score 0: The student showed no appropriate work and did not write an explanation.
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Question 28

28 The function M(t) represents the mass of radium over time, ¢, in years.

(lné)t

M(t) = 100e %

Determine if the function M(¢) represents growth or decay. Explain your reasoning.

Score 2: The student gave a complete and correct response.
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Question 28

28 The function M(t) represents the mass of radium over time, ¢, in years.
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Score 2: The student gave a complete and correct response.
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Question 28

28 The function M(t) represents the mass of radium over time, ¢, in years.

(Zné)t

M(t) = 100e %

Determine if the function M(¢) represents growth or decay. Explain your reasoning.
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Score 1: The student gave an incomplete explanation.
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Question 28

28 The function M(t) represents the mass of radium over time, ¢, in years.

(Zné)t

M(t) = 100e %

Determine if the function M(¢) represents growth or decay. Explain your reasoning.
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Score 1: The student showed appropriate work, but did not write an explanation.
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Question 28

28 The function M(t) represents the mass of radium over time, ¢, in years.

(lné)t

M(t) = 100e %

Determine if the function M(¢) represents growth({or decay. Explain your reasoning.
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Score 0: The student did not write an explanation.
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Question 28

28 The function M(t) represents the mass of radium over time, ¢, in years.

(lné)t

M(t) = 100e %

Determine if the function M(¢) represents growth or decay. Explain your reasoning.
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Score 0: The student showed no appropriate work and did not write an explanation.
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Question 29

29 On the grid below, sketch a cubic polynamial whose zeros are 1, 3, and —2e—
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Score 2: The student gave a correct sketch.
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Question 29

29 On the grid below, sketch a cubic polynomial whose zeros are 1, 3, and —2.

=

Score 2: The student gave a correct sketch.
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Question 29

29 On the grid below, sketch a cubic polynomial whose zeros are 1, 3, and —2.

&

Score 1: The student made one graphing error.
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Question 29

29 On the grid below, sketch a cubic polynomial whose zeros are 1, 3, and —2.
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Score 1: The student produced an insufficient sketch.
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Question 29

29 On the grid below, sketch a cubic polynomial whose zeros are 1, 3, and —2.
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Score 0: The student did not provide a sketch.
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Question 30

5
5 5
30 Given the equal terms V x° and y 6 determine and state y, in terms of x.

Score 2: The student gave a complete and correct response.
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Question 30

5
5 5
30 Given the equal terms V x° and y 6 determine and state y, in terms of x.

Score 1: The student made a transcription error.
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Question 30

5
5 5
30 Given the equal terms V x° and y 6 determine and state y, in terms of x.
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Score 1: The student interchanged the root and power.

Algebra II (Common Core) - Jan. 17 [30]



Question 30

5
5 5
30 Given the equal terms V x° and y 6 determine and state y, in terms of x.
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W[ = Xex — X*

Score 0: The student used an incorrect procedure to get x2,
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Question 31

31 The results of a survey of the student body at Central High School about television viewing
preferences are shown below.

Comedy Series Drama Series Reality Series Total
Males 95 65 70 230
Females 80 70 110 260
Total 175 135 180 490

Justify your answer.

Are the events “student is a male” and “student prefers reality series” independent of each other?
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Score 2:

The student gave a complete and correct response.
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Question 31

preferences are shown below.

31 The results of a survey of the student body at Central High School about television viewing

Comedy Series Drama Series Reality Series Total
Males 95 65 70 230
Females 80 70 110 260
Total 175 135 180 490

Are the events “student is a male” and “student prefers reality series” independent of each other?
Justify your answer.
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Score 2: The student gave a complete and correct response.
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Question 31

preferences are shown below.

31 The results of a survey of the student body at Central High School about

television viewing

Comedy Series Drama Series Reality Series Total
Males 95 65 70 230
Females 80 70 110 260
Total 175 135 180 490

Are the events “student is a male” and “student prefers reality series” independent of each other?
Justify your answer.
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Score 1: The student found one of the probabilities incorrectly in comparison.
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Question 31

preferences are shown below.

31 The results of a survey of the student body at Central High School about

television viewing

Comedy Series Drama Series Reality Series Total
Males 95 65 70 230
Females 80 70 110 260
Total 175 135 180 490

Justify your answer.

P
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Are the events “student is a male” and “student prefers reality series” independent of each other?
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Score 1:

The student gave a correct justification, but did not state ‘no’.
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Question 31

preferences are shown below.

31 The results of a survey of the student body at Central High School about television viewing

Comedy Series | Drama Series Reality Series Total
Males 95 65 70 C;ZSQJ
Females 80 70 110 260
Total 175 135 A0 | A0 )
H—— =

Are the events “student is a male” and “student prefers reality series” independent of each other!

Justify your answer.
1€0 ~ 36
gy
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Score 0: The student found one of the probabilities incorrectly in comparison and did not state

“no”.
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Question 31

preferences are shown below.

31 The results of a survey of the student body at Central High School about

television viewing

Comedy Series Drama Series Reality Series Total
Males 95 65 70 230 Mafe: 2
Females 80 70 110 260 |mqge cesis)
Total 175 135 180 490

Justify your answer.
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Are the events “student is a male” and “student prefers reality series” independent of each other?
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Score O:

The student compared incorrect probabilities and gave an incorrect justification.
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Question 32

32 Given f(x) = 32 + 7x — 20 and g(x) = x — 2, state the quotient and remainder of m in the

g(x)
r(x)

form g(x) + ——=

3 (3
X -2} 2y*+ 3x - 29
_:g;"-‘r(')ﬁ( '

Px - 20
— x +20

(.

Score 2: The student gave a complete and correct response.
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Question 32

32 Given f(x) = 32 + 7x — 20 and g(x) = x — 2, state the quotient and remainder of

r(x)
¢(x)

Qgﬂfw

form g(x) +

f(x)

>

g(x)

in the

Score 2: The student gave a Complete and correct response.
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Question 32

32 Given f(x) = 32 + 7x — 20 and g(x) = x — 2, state the quotient and remainder of m in the

g(x)
r(x)
¢(x)

form g(x) +

Score 1: The student used —2 instead of 2.
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Question 32

32 Given f(x) = 32 + 7x — 20 and g(x) = x — 2, state the quotient and remainder of m in the

g(x)

form g(x) + M

¢(x)

Score 1: The student did not give the answer in the required form.
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Question 32

32 Given f(x) = 32 + 7x — 20 and g(x) = x — 2, state the quotient and remainder of m in the

g(x)
r(x)

form g(x) + %
0 a
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Score 0: The student did not use a correct procedure to find a quotient that has a remainder.
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Question 33

33 Algebraically determine the values of i and k to correctly complete the identity stated below.

23 =102+ 1lx — 7= (x — 42>+ hx + 3) + k
3 2 o
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Score 4: The student gave a complete and correct response.
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Question 33

33 Algebraically determine the values of i and k to correctly complete the identity stated below.

23 — 102+ 1l — 7= — D22+ hx +3) + k
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Score 4: The student gave a complete and correct response.
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Question 33

33 Algebraically determine the values of i and k to correctly complete the identity stated below.

Py ’f\

203 — 102 M 1l — 7= (W D@2+ Iy + 3) ¥ k
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Score 3: The student made one computational error.
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Question 33

33 Algebraically determine the values of i and k to correctly complete the identity stated below.

23 — 102+ 1le — 7= (x —4)(2% + hx + 3) + k

aﬁ#m%!x =7
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Score 2: The student only found the correct value for k.
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Question 33

33 Algebraically determine the values of h and k to correctly complete the identity stated below.

23 — 102+ 1le — 7= (x —4)(2% + hx + 3) + k

= AT NXT=BxT 43X -Hhx-12+ W

Score 1: The student distributed correctly.
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Question 33

33 Algebraically determine the values of h and k to correctly complete the identity stated below.

23 — 102+ 1l — 7= (x —4)(2% + hx + 3) + k

ZxA003H %12 2% g+ 3y -8 -Uh + 12 + K
ZX3-\O>(21-H)(-'}_-2X3_8«|,]X2__hx+I,Z%H

Score 0: The student did not show enough correct work to receive any credit.
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Question 34

34 Elaina has decided to run the Buffalo half-marathon in May. She researched training plans on the
Internet and is looking at two possible plans: Jillian’s 12-week plan and Josh’s 14-week plan. The
number of miles run per week for each plan is plotted below.

30
284 x
26 X

244 X X

22 b X X

20— ]

189 o’ Josh's Pl
164 ) x Josh's Plan

14 . e Jillian's Plan
12— °
10+—e

Miles
[ ]

Weeks

Which one of the plans follows an arithmetic pattern? Explain how you arrived at your answer.
N W\Wien 4 besu s NetNgsesh \3\1 o pgch
Lrme y unilce Jovs vhots doge 0 waw b wint addi} each wdk,

Write a recursive definition to represent the number of miles run each week for the duration of

the plan you chose.
Ty Cae = Bn+d

= On+)

20
Jillian’s plan has an alternative if Elaina wanted to train instead for a full 26-mile marathon. Week
one would start at 13 miles and follow the same pattern for the half-marathon, but it would
continue for 14 weeks. Write an explicit formula, in simplest form, to represent the number of
miles run each week for the full-marathon training plan.

0"04’\

Bead O™ B, % (=1)d
Gons Bk (AN
S A% AN~

Score 4: The student gave a complete and correct response.
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Question 34

34 Elaina has decided to run the Buffalo half-marathon in May. She researched training plans on the
Internet and is looking at two possible plans: Jillian’s 12-week plan and Josh’s 14-week plan. The
number of miles run per week for each plan is plotted below.

30
284 x
26 X

244 X X

22 b X X

20— ]

189 o’ Josh's Pl
164 ) x Josh's Plan

14 . e Jillian's Plan
12— °
10+—e

Miles
[ ]

Weeks

Which one of the plans follows an arithmetic pattern? Explain how you arrived at your answer.

Meon'S Plan Sollpws an A0 e - atten |
bQ%.Q-“-gg: Qwﬁ\ ‘OU) i LS V\:Slb’@ \H&' ore ﬁ'\\‘(
CRY VG o\dw 2oai~ k -

Write a recursive definition to represent the number of miles run each week for the duration of

the plan you chose.
Qi - lO
Qn ~l + ’ =0un

Jillian’s plan has an alternative if Elaina wanted to train instead for a full 26-mile marathon. Week
one would start at 13 miles and follow the same pattern for the half-marathon, but it would
continue for 14 weeks. Write an explicit formula, in simplest form, to represent the number of
miles run each week for the full-marathon training plan.

G = 1D+(-DT

Score 3: The student did not express the explicit formula in simplest form.
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Question 34

34 Elaina has decided to run the Buffalo half-marathon in May. She researched training plans on the
Internet and is looking at two possible plans: Jillian’s 12-week plan and Josh’s 14-week plan. The
number of miles run per week for each plan is plotted below.

30
284 x
26 X

244 X X

22 b X X

20— °

189 o’ Josh's Pl
164 ) x Josh's Plan

14 . e Jillian's Plan
12— °
10+—e

Miles
[ ]

Weeks

Which one of the plans follows an arithmetic pattern? Explain how you arrived at your answer.

Nhion's | becoose one milk 1y odded
SoSin Wk

Write a recursive definition to represent the number of miles run each week for the duration of

the plan you chose.
= \0

b= Wk

Jillian’s plan has an alternative if Elaina wanted to train instead for a full 26-mile marathon. Week
one would start at 13 miles and follow the same pattern for the half-marathon, but it would
continue for 14 weeks. Write an explicit formula, in simplest form, to represent the number of
miles run each week for the full-marathon training plan.

Yz § +dla-y) Y= 120 =)

Yoz Rsin-1) [“"n‘é\&@

Score 3: The student gave an incorrect recursive definition.
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Question 34

34 Elaina has decided to run the Buffalo half-marathon in May. She researched training plans on the
Internet and is looking at two possible plans: Jillian’s 12-week plan and Josh’s 14-week plan. The
number of miles run per week for each plan is plotted below.

30
284 x
26 X

244 X X

22 b X X

20— °

189 o’ Josh's Pl
164 ) x Josh's Plan

14 . e Jillian's Plan
12— °
10+—e

Miles
[ ]

Weeks

Which one of the plans follows an arithmetic pattern? Explain how you arrived at your answer.
j, | {f&/\ ECLMQL 9»[4!/ [ﬂ(’z"l‘\ﬁg&& ’n:\"" cﬁ%%Mﬁ_,‘e/
i lau] | il loch wuk.

Write a recursive definition to represent the number of miles run each week for the duration of

the plan you chose.
a = |o

I

- +
Jillian’s plan has an alternative if Elaina wanted to train instead for a full 26-mile marathon. Week
one would start at 13 miles and follow the same pattern for the half-marathon, but it would
continue for 14 weeks. Write an explicit formula, in simplest form, to represent the number of
miles run each week for the full-marathon training plan.

Score 2: The student did not complete the third part.
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Question 34

34 Elaina has decided to run the Buffalo half-marathon in May. She researched training plans on the
Internet and is looking at two possible plans: Jillian’s 12-week plan and Josh’s 14-week plan. The
number of miles run per week for each plan is plotted below.

30
284 x
26 X

244 X X

22 b X X

20— °

189 o’ Josh's Pl
164 ) x Josh's Plan

14 . e Jillian's Plan
12— °
10+—e

Miles
[ ]

Weeks

Which one of the plans follows an arithmetic pattern? Explain how you arrived at your answer.

3;“100\ L@,ca(«f& !‘& S /ud;'/y ,}qg,fadﬁf 4&-

ple

Write a recursive definition to represent the number of miles run each week for the duration of

the plan you chose. A A L )
a2 ‘,{A- -\
T ..\ A,"" \©

wWee- Hf iy WA

ety ol
Jillian’s plan has an alternative if Elaina wanted to train instead for a full 26-mile marathon. Week
one would start at 13 miles and follow the same pattern for the half-marathon, but it would

continue for 14 weeks. Write an explicit formula, in simplest form, to represent the number of
miles run each week for the full-marathon training plan.

p\h-«l3”(""'>

Score 1: The student gave an incorrect explanation and recursive definition, and did not simplify
the explicit definition.
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Question 34

34 Elaina has decided to run the Buffalo half-marathon in May. She researched training plans on the
Internet and is looking at two possible plans: Jillian’s 12-week plan and Josh’s 14-week plan. The
number of miles run per week for each plan is plotted below.

30
284 x
26 X

244 X X

22 b X X

20— °

189 o’ Josh's Pl
164 ) x Josh's Plan

14 . e Jillian's Plan
12— °
10+—e

Miles
[ ]

Weeks
Which one of the plans follows an arithmetic pattern? Explain how you arrived at your answer.
Jillion's Ploon oMo s an oxri¥hme-H ¢
POARAN LR COMEe ¥re COMMON diffcrence
'S \.

Write a recursive definition to represent the number of miles run each week for the duration of
the plan you chose.

Q.n = &Y\"\ \h‘\_ \

Jillian’s plan has an alternative if Elaina wanted to train instead for a full 26-mile marathon. Week
one would start at 13 miles and follow the same pattern for the half-marathon, but it would
continue for 14 weeks. Write an explicit formula, in simplest form, to represent the number of
miles run each week for the full-marathon training plan.

O =

Score 1: The student did not state a recursive or explicit definition correctly.
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Question 34

34 Elaina has decided to run the Buffalo half-marathon in May. She researched training plans on the
Internet and is looking at two possible plans: Jillian’s 12-week plan and Josh’s 14-week plan. The
number of miles run per week for each plan is plotted below.

30
284 x
26 X

244 X X

22 b X X

20— °

189 o’ Josh's Pl
164 ) x Josh's Plan

14 . e Jillian's Plan
12— °
10+—e

Miles
[ ]

Weeks

Which one of the plans follows an arithmetic pattern? Explain how you arrived at your answer.

Josh's ) 7+ has s alsain a{oﬁmpﬁﬁm
G Ctes ol 4P ntl e #lme_

Write a recursive definition to represent the number of miles run each week for the duration of
the plan you chose.

Dila’s Pﬁ’ﬂ ? Y/" Xt &

Jillian’s plan has an alternative if Elaina wanted to train instead for a full 26-mile marathon. Week
one would start at 13 miles and follow the same pattern for the half-marathon, but it would
continue for 14 weeks. Write an explicit formula, in simplest form, to represent the number of
miles run each week for the full-marathon training plan.

Y:,_,HZ

Score 0: The student made multiple errors.
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Question 35

35 The guidance department has reported that of the senior class, 2.3% are members of key club, K,
8.6% are enrolled in AP Physics, P, and 1.9% are in both.

Determine the probability of P given K, to the nearest tenth of a percent.

o) = pCPAR) gy
f ,'fK\ T e - S
) ’ .A‘ /‘ b \E :‘Z P #
LY

The principal would like a basic interpretation of these results. Write a statement relating your
calculated probabilities to student enrollment in the given situation.

o . 7,
: ; v
; b ey ateb e
) .; [o b ihis 5 o b et Roiy
Py 14 £ :
a4 T C o
: Lo e 0 Fhg L4
II" Z he E-" Fealor ¢ ff& 14 /,f’ e
P e b i
..ﬂ_l\r ‘5/,‘ S AN ’
AR

Score 4: The student gave a complete and correct response.
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Question 35

35 The guidance department has reported that of the senior class, 2.3% are members of key club, K,
8.6% are enrolled in AP Physics, P, and 1.9% are in both.

Determine the probability of P given K, to the nearest tenth of a percent.

4 T 2y

The principal would like a basic interpretation of these results. Write a statement relating your
calculated probabilities to student enrollment in the given situation.

Score 3: The student did not provide a statement.
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Question 35

35 The guidance department has reported that of the senior class, 2.3% are members of key club, K,
8.6% are enrolled in AP Physics, P, and 1.9% are in both.

Determine the probability of P given K, to the nearest tenth of a percent.

P(KH’) : P(Knp\) AL 2209
P(P) 0¥ 6

27--'75

The principal would like a basic interpretation of these results. Write a statement relating your
calculated probabilities to student enrollment in the given situation.

The ?&LGM,\\J\] Haak a side~t is a membe- &

‘“ 29.0%

Y \L&l C,(v‘ghj\\j("ﬂ %\0\‘5— e sPhdead vy led
in AP OHV‘S}U.

Score 2: The student found 22.1% and wrote an appropriate statement.
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Question 35

35 The guidance department has reported that of the senior class, 2.3% are members of key club, K,
8.6% are enrolled in AP Physics, P, and 1.9% are in both.

Determine the probability of P given K, to the nearest tenth of a percent.

045 Tog

A=22.192

The principal would like a basic interpretation of these results. Write a statement relating your
calculated probabilities to student enrollment in the given situation.

T F oL trsenib erdlleddy Icey i, Poent Hyy
5 o 19 Ao thot—he Wil Qigone enityred ) 1;7‘5/

Phy/slcs:

Score 1: The student made a conceptual error and did not base the statement on the calculation.

Algebra II (Common Core) - Jan. 17 [59]



Question 35

35 The guidance department has reported that of the senior class, 2.3% are members of key club, K,
8.6% are enrolled in AP Physics, P, and 1.9% are in both.

Determine the probability of P given K, to the nearest tenth of a percent.

(P)K)=
Q., Z) (_(‘,6)"— 4. %¢

The principal would like a basic interpretation of these results. Write a statement relating your
calculated probabilities to student enrollment in the given situation.

OF the stodeds who are ekl AP phates and o

morbgs oF  the Ky diby 10367 6 den Wil be
erwole  in both.

Score 0: The student made multiple conceptual errors.
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Question 35

35 The guidance department has reported that of the senior class, 2.3% are members of key club, K,
8.6% are enrolled in AP Physics, P, and 1.9% are in both.

Determine the probability of P given K, to the nearest tenth of a percent.

2. 3% =% 2.5
% .=V
L= & 25 =2 X
fl%.[ AR \;OQ
1
2o S t®. 0 °b

The principal would like a basic interpretation of these results. Write a statement relating your
calculated probabilities to student enrollment in the given situation.

1590 04+l Snior QIR MM
oF ey Gloe

Score 0: The student made multiple errors.
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Question 36

36 Using the formula below, determine the monthly payment on a 5-year car loan with a monthly
percentage rate of 0.625% for a car with an original cost of $21,000 and a $1000 down payment, to
the nearest cent.

_ 1—<1+z->‘") sy ®

P, = PMT|———— l-(\+.o,0bl )
20000 =P ‘l x>

P = present amount borrowed - OO(O

n = number of monthly pay periods

PMT = monthly payment PM .‘— — L'lw.—ls gq—‘ ‘q

i = interest rate per month

YPMT: 1006 J/

The affordable monthly payment is $300 for the same time period. Determine an appropriate
down payment, to the nearest dollar.

-1+, c00USY " j
Z{Jax)"xzé)OO[ ( Yo 1-21y

= ~bOLR.Yyp1 CUS

[ ko28] 1§ 0015

Score 4: The student gave a complete and correct response.
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Question 36

36 Using the formula below, determine the monthly payment on a 5-year car loan with a monthly
percentage rate of 0.625% for a car with an original cost of $21,000 and a $1000 down payment, to
the nearest cent.

1

1—@+¢f”)
P =PMT|——— ~60)
L0 (ul- "M(Ml—«-

P = present amount borrowed
n P 1 oa(‘%

n = number of monthly pay periods
PMT = monthly payment

4%00.7

i = interest rate per month

The affordable monthly payment is $300 for the same time period. Determine an appropriate
down payment, to the nearest dollar.

§8912

Score 3: The student did not show work to find $6028.
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Question 36

the nearest cent.

1

1—(1+i)_")

P =PMT
P = present amount borrowed

n = number of monthly pay periods
PMT = monthly payment

i = interest rate per month

down payment, to the nearest dollar.

36 Using the formula below, determine the monthly payment on a 5-year car loan with a monthly
percentage rate of 0.625% for a car with an original cost of $21,000 and a $1000 down payment, to

-
20000 = PMT (‘ “; z.oo::;s) )

20000= PMT (44,905:30818)
PMT = 400.76

The affordable monthly payment is $300 for the same time period. Determine an appropriate

Score 2: The student found $400.76 correctly.
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Question 36

36 Using the formula below, determine the monthly payment on a 5-year car loan with a monthly
percentage rate of 0.625% for a car with an original cost of $21,000 and a $1000 down payment, to
the nearest cent.

\ -L\-—\-Q >
1—(1—1—1‘)_") MTL

P = PMT 2000 = X ( —CH 006?.5>

1

, oo(a?..S"

P = present amount borrowed

n = number of monthly pay periods Qooéo__iﬂﬁ*gj)gs %
A -\
PMT = monthly payment X = 400 2

i = interest rate per month

L= . 00L%S
PMT = X

N =60 months
2 = 20000

The affordable monthly payment is $300 for the same time period. Determine an appropriate
down payment, to the nearest dollar.

&:—(6?350 B = PMT Q - (\:‘)

1 =.,.00008" -
\ Pu = 300 (\ -(\ +.00625) €0
. 00625

Pa 1472

Score 2: The student made a rounding error and did not subtract from $21,000.
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Question 36

36 Using the formula below, determine the monthly payment on a 5-year car loan with a monthly
percentage rate of 0.625% for a car with an original cost of $21,000 and a $1000 down payment, to
the nearest cent.

P = PMT
n

1

1—(1—1—1‘)_")

b
_ Li-((l+.66(a25>o>
/A 1006 PN\-Y \ .00 IS

21680 = & 44905209
4q,90530%1§ Lﬁ.?assoq\z

176,794 205

i = interest rate per month m

P = present amount borrowed

n = number of monthly pay periods

PMT = monthly payment

The affordable monthly payment is $300 for the same time period. Determine an appropriate
down payment, to the nearest dollar.

g
¥ = 450 (l"(l'l‘:OOlezS)

OB TS )

X=-52713, 46755
52123

Score 1: The student did not take off the original down payment and showed no further correct
work.
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Question 36

36 Using the formula below, determine the monthly payment on a 5-year car loan with a monthly
percentage rate of 0.625% for a car with an original cost of $21,000 and a $1000 down payment, to
the nearest cent.

P = PMT
n

1

1—(1+i)_")

P = present amount borrowed

n = number of monthly pay periods

PMT = monthly payment e
oG . O\&

e IR

i = interest rate per month

The affordable monthly payment is $300 for the same time period. Determine an appropriate

down payment, to the nearest dollar.
N —60
000 = 300 (1L 6L.27) )
N L1

2\000 = 200X .0\6

= U.%
TO00 = s

a \10\0"%'1

Score 0: The student made multiple errors.
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Question 37

37 The speed of a tidal wave, s, in hundreds of miles per hour, can be modeled by the equation
s=t — o+ 6, where ¢ represents the time from its origin in hours. Algebraically determine the

time when s = 0.

O:’ Kg —*2'{D+®
(e @)
terad e 4307
Lk‘gl“" Q\S"JD -1 5(0 = O
(hb-9) (£-4) =0
= .‘9% £

r%coi‘

Orlej V\.(TvQ '&J\m«» o “4)0\’\4»")

How much faster was the tidal wave traveling after 1 hour than 3 hours, to the nearest mile per
hour? Justify your answer.

=] ~at)+e =S
S- (B -2 46 [, 732050808

500, I 3077 ’
_ 73 .12205080&

A0, NAFIg )

Score 6: The student gave a comple and correct response.
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Question 37

37 The speed of a tidal wave, s, in hundreds of miles per hour, can be modeled by the equation
s=t — o+ 6, where ¢ represents the time from its origin in hours. Algebraically determine the

time when s = 0.

Ocﬁ "Z«‘\' '\(9 4 1: v
(2e-0% ()" L6 e 1
e N
R A T
YL -gte  a
% 28x4 T~ (36 - _
X‘:‘ ZS. \‘itq ( i Qt""@; ./%ZJ/
1S4 uhir 36
= ""%n 0= JEs - ?Zi)HL
2 Fear+ 50
X =Y or ¥, b= R feseoted
L=

How much faster was the tidal wave traveling after 1 hour than 3 hours, to the nearest mile per
hour? Justify your answer.

Lo Blirke Ser-l) 46 = 7T =Spe mb
whtntbhe g o3 = 24116 = R —@46::3'_"5

Sov- 5 < uukek <)4agmie /

Score 5: The student did not convert \/g to miles.
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Question 37

37 The speed of a tidal wave, s, in hundreds of miles per hour, can be modeled by the equation
s=t — o+ 6, where ¢ represents the time from its origin in hours. Algebraically determine the
time when s = 0.

boe YT oRAar a3
-3 -~% A
-
‘r’% ~24% +f =20 0% {4* -28+ +3¢
: Z2l2¢
Jt - 2% = -4 : S
IR A AR |
2
() = Gp-ed
3= (z1-6)(2t - 6)

BY* <2k -tz 36
%" -2 o3y

How much faster was the tidal wave traveling after 1 hour than 3 hours, to the nearest mile per
hour? Justify your answer.

Score 4: The student found a correct quadratic equation in standard form and 327.
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Question 37

37 The speed of a tidal wave, s, in hundreds of miles per hour, can be modeled by the equation

s=t — o+ 6, where ¢ represents the time from its origin in hours. Algebraically determine the

time when s = 0.

[F -2tre =0
WE)E@er6) e* —24 % 36
T = gt2-24% 134 ZM

U2-25t 130 = 0 = =%
X= 2%t 7

| &
@ x=4 x=2.2%5

How much faster was the tidal wave traveling after 1 hour than 3 hours, to the nearest mile per

hour? Justify your answer.

2X fasrer bfe oF the cseEicent -
bﬁiwg ustd.

Score 4: The student found 4 correctly.
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Question 37

37 The speed of a tidal wave, s, in hundreds of miles per hour, can be modeled by the equation

s=t — o+ 6, where ¢ represents the time from its origin in hours. Algebraically determine the

time when s = 0.
G4y - 2+ 6

(-7 (-zre)”

L{‘fz -z9 ¥ +36

1]

+ -
44® -2 % ¥ 36

1)

O

How much faster was the tidal wave traveling after 1 hour than 3 hours, to the nearest mile per

hour? Justify your answer.
0 -20046 J2-Z(3)+ ¢
43

- =6 < -43

S @‘.\es ! ho_ob

Score 3: The student found a correct quadratic equation, but did not convert to miles
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Question 37

37 The speed of a tidal wave, s, in hundreds of miles per hour, can be modeled by the equation

s=At —u+ 6, where ¢ represents the time from its origin in hours. Algebraically determine the

Y 0= JE - 24+
A8y (2007 =y
W pyoraez, | R O
M2 =+ R
H4% -25+ 317 O 252419 E

—————

4 e

How much faster was the tidal wave traveling after 1 hour than 3 hours, to the nearest mile per
hour? Justify your answer.

=0 -2(1)+b S={3-2/3)+4
3=5 s=1.7

3 ‘ 3 hundrecls of mrles [per houc

Score 3: The student made more than two mechanical errors.
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Question 37

37 The speed of a tidal wave, s, in hundreds of miles per hour, can be modeled by the equation
s=t — o+ 6, where ¢ represents the time from its origin in hours. Algebraically determine the

time when s = 0.

O *E"&tm 5 Gae+b§(~gg¢u\
QE }a 6;' tﬂ") - 1230
f: = 043,

~
- 24
“E ~AS+3lp =0 ggﬁ‘

+tas+Md =0 I 9
-1y -9\ =
—f t fﬁ) 2

F€:=\'+ “‘f‘vnﬂ

How much faster was the tidal wave traveling after 1 hour than 3 hours, to the nearest mile per

hour? Justify your answer.

Score 3: The student didn’t reject %
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Question 37

37 The speed of a tidal wave, s, in hundreds of miles per hour, can be modeled by the equation
s=t — o+ 6, where ¢ represents the time from its origin in hours. Algebraically determine the

time when s = 0.

How much faster was the tidal wave traveling after 1 hour than 3 hours, to the nearest mile per
hour? Justify your answer.

gz -2UDY 6 5% 2B b
(21-1¥06 §=3% ~L 1 b

4 % {cC mph {4 \"\% ("\pl‘\

so0-\5 7 BT\
RSN

Score 2: The student found 327.
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Question 37

37 The speed of a tidal wave, s, in hundreds of miles per hour, can be modeled by the equation
s=t — o+ 6, where ¢ represents the time from its origin in hours. Algebraically determine the

time when s = 0.

e TF - 24
O" _\_ _’L\?.+GL

‘-——-—T’_’—. O = .,2_'\?’.\,“' + BQ)

= 4.5+

How much faster was the tidal wave traveling after 1 hour than 3 hours, to the nearest mile per
hour? Justify your answer.

S"\n- - l)-lfé

<= J2 -2UB) 6

Score 1: The student did not convert to miles.
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Question 37

37 The speed of a tidal wave, s, in hundreds of miles per hour, can be modeled by the equation
s=t — o+ 6, where ¢ represents the time from its origin in hours. Algebraically determine the

time when s = 0.

I q\ O K%L ot M-ﬁ‘m&%ﬂ
\\ 4?@}@% =0
ey

f \*
N 0= 209\
N 2O

( éx+mus Jo(UHo;D

How much faster was the tidal wave traveling after 1 hour than 3 hours, to the nearest mile per
hour? Justify your answer.

F -
2=+ 240 » e

+=25 J=T3 =23+
3;\[;/.5 —-Z?(Zl DY . 2

5=3 | moke

Score 0: The student did not show enough correct work to receive any credit.
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